DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
TINPCBI1 | NEET PRACTICE QUESTIONS | "% %
(2023-24) (TEST-11) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. Two string P and Q of force constant K, and
K, (K, = K}/2) are stretched by a force of
equal magnitude. If energy stored in Q is E
then energy stored in P is.

A)E B) 2E

C) B/4 D) E2
(Ky = K./2) 6160Tm Mlemevuiev @ eiTerm K, oM miLd
K, ellems wrmledl Q&meor P mmmib Q
eTedTm @\ evor(h SUIMIGET &FLD 6T6vor LOHLIL]
Q& meooTL ellem & W6V @) (L8585 L1 (h) &) 60T M 60T
Q aflev CFUISE MeaUGSLILILL  3LMM6Y
E eteofleb P ulev GrUllgEs emeudHaLILLl L
S5 DMHEVTETS!
A)E B) 2E

C) E/4 D) E2

2. The mean distance between the atom of iron is
3 x 107! m and interatomic force constant for
iron is 7N/m. The young modulus of elasticity
of Iron

A) 2.33 x 10° N/m?
B) 23.2 x 10" N/m?

C) 233 x 10" N/m?

D) 2.33 x 10" N/m?

@\ (BLOLY eoT 9| 6005555 @H & T 60)L_LILIL L
Fynelfl Qsmemeve] LS 3x10°m Gl
Gaid @LLIET 3 avIsHSEEHSHR LG
QFweLBIb eflema Lommiledl erevflev @ HLDLI 60T
WLITBI (& 6007855 60T LOGLILIT60TS!

A)2.33 x 105 N/m?
B)23.2 x 10" N/m?

C) 233 x 10" N/m?
D) 2.33 x 10" N/m?

3. If a spring extends by x on loading. Then
energy stored by the spring is (If T is tension
in the spring and K is spring constant)

A) T#2x B) T2/2K

C) 2x/T? D) 2T%/x
smealle  @eTaléy Mlewm  gedtTm
@eeTSESILGLEUTS x  HeaTelhE

alflaemLBma  erevfley  G@peT  aflevedlev
CrUllggs  maISGHLILLL QLMHMEVTETSI
T eeorLG &@meT ellevelled QFWELLI(RILD
@weleng MHMILD K &6 ellev Lomnledl)

A) T/2x B) T2/2K

C) 2x/T? D) 2T%x
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4. Assertion : steel is more elastic than rubber

Reason : under given deforming force steel is
deformed less than rubber

A) Both assertion and reason are correct
Reason is correct explanation for assertion

B) Both assertion and reason are correct.
Reason is not the correct explanation of
assertion

C) Assertion correct reason wrong

D) Both Assertion and reason wrong

gahm : @@L Jluudr el 4868
LS G55 60T60)L0 G\ &5 TEvoTL_ )

SIMJEOTD : 2 (hHGMVHGWD  allema
QFWeLL(BHSSLIUMHWLEUTSI @ LD
TLLeT el GemMmeUTs 2 (H&Eem6ul LD

A) MMl LOMMID &HTIevoTd @) Tevor(hGLo
FflWmergl. &STIeoTld  Som )& &Hmeor
Frflwmeor ellemgasLn

B) MM LOMMILD &Myeoord @) Feoor(hGLo
FlWmergl. &MJeoTld  SwMN)&asTer
Frilwmeor eleT& &I 3{6V6V

Q) Samm FflWIMeTSl S5TI6NTLD &6 M ITEorS!

D) MMl LDMMID &TFeoordD @) Fevor(hGLo
SH6UMITETS!

. The load verses elongation graph for four
wires of same material is shown in figure. The
thickest wire is represented by the line

N\
D
Load
u©H C
B
A
N
7
Elongation
B &
A) OA B) OB
C)0C D) OD

8T 2 GeuM&HLl GQUITIHEITITEVITEOT  [HIT6OTES
shullesr 1S& UeEp (load) QFWeeLLI(BILD
GUMg gmU®LD BLE ommild Lieselm&smeor
QIETLILID LLSH6 STLLLILIL(He6Tersl.
@56 sllnermer &Hleow SOILLG WD
C&ITLITeOTSI

N\
D
Load
U@ C
B
A
N
7
Elongation
B &
A) OA B) OB
C) OC D) OD

6. Find the decrease in volume of sample of
water from the following data Initial volume
= 1000 cm’. Initial pressure = 10°Nm~ Final
pressure = 10°Nm? Compressibility of water
=50 x 10" m*N™!

A)—-0.95 cm? B) 0.95 m?

C)-0.45 m’ D) -0.45 cm?
By wrHflullear Her gemallsy gmHUBID
Geonmallener  LleTeu@ld  HHauevaerleor
Sl Uy SHOTHHLLTEL (4 FLDL
L@BLeT = 1000 cm® QDL QWSS =
10° Nm2 @mIB) WS = 106Nm2  Bifleor
(W&HSH HFen&H6)| = 50 x 107" m2N-"

A)-0.95 cm? B) 0.95 m?

C)-045m’ D) -0.45 cm?

7. Two mercury drop each of radius r merge
to form a bigger drop. The surface energy
released is

A) 1.65mrS
B) 1.651°S
C) 1.65r°S

D) 1.65mrS
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r SN Q&meoor @peor(h LUMHIEF
Sleflgem eerMlemetorhg Quflu sieflwims
LMTISME. @bBlswnailsy GeleflalLLiLi@Wn
LITLIL opmmeSledr LnG)LILImeoTs)

A)9x 10" ms™?
B) 9 x 102 ms=
C)9x 102 ms™
D)9 x 10> ms™?

8. Ablock of aluminium of mass 1 kg and volume
3.6 x 10* m® is suspended from a string and
then completely immersed in a container of
water The decrease in tension in the string
after immersion is

A)9.8N B) 62N

C)3.6N D)1.0N

1 9§ Blemmwd 3.6 x 104 m? HeoT Ij6TeLh
Q& meooTL. jevildleofll sl eml epetTml &LDLY
660TMI60TITEL &L QG TGN L LILIL (HeTersl.
@ 6UAIEMLOLILITETS  QEITETHEVET  6260TMI6V
2 etem HIflV (WNEUSIDTS eLNES QFUIWLD
Gumal @uallemauilev gmLI(BILD @LOLILIT6TSI

A)9.8N B)6.2N

C)3.6N D) 1.0N

9. Horizontal tube of non-uniform cross section
has radii of 0.1 m and 0.05 m respectively at
M and N for a streamline flow of liquid the
rate of liquid flow is

-
M

A) continuously changes with time
B) Great at M than at N
C) Great at N than at M

D) same at M and N

M LHmitb N pemerseflev wenmEuw 0.1m
WwmoIb  0.05m GMI&EE eul(h UFLL
Q&meooTL. Ermm GMEE Qeul (B UL
Qameoor  @pmuler eauPblCw  euflE&r
@l LSH6 B QFH M erenfley HILOLD
LMW efsLnmeors)

-
M

A) &HTVHMS QLITMISH S QS TLITHS! LDMMILD
BINLGHemnw el M - 60 3| &L0Ms LML LD
OM UGG il N6V H\&L0ME LIMULD
D) M iommith N e flGW &1 oemailev LIMUJLh

10. A tank filled with water to a height h is to be
emptied through a small hole at the bottom.
The ratio of time taken for the level of water
to fall rom h to h/2 and from h/2 to zero is

A)\2 - 1:1

B) V2:1

C) 1:1

D) 4:1
B QaMLI eermley h 2 WESey Brmersl
pliriuliuC@eTerg.  Qsmliquier  &Lp
LGS Ulev 2 6tem Gl siemer eudlwins By

QeueflGwmmUIL@LCUTEhe_ W Is 5 e [BH S
h/2 2 LIHHHGS B QFLID HTLSHHGSLD

h/2 efedlbas h = 0 && B GFsvsld
HTVSH MG 2 66T elFFHLO M6,
A)\2-1:1
B) V2:1
Q) 1:1

D) 4:1
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11. A steel wire having a radius of 2 mm carrying
aload of 4 kg is hanging from a ceiling. Given
that g=3.171 ms2 what will be the tensile stress
that would be developed in the wire

A) 4.8 x 10°Nm
B) 3.1 x 10 Nm>
C) 6.2 x 10 Nm>
D) 5.1 x 10° Nm?

2 0.5 SLTLD Q&MeooTL (H 6T SLIulev
4 SE aolL @M FmenTulledmha
QamHIGMLLILIL(H6Tengl. g-6T LG
31t ms? eTeoT  Q&meoorLmey, &Lluiev
2 (HAUMGLD @) WeNlenT 58 6T6TSl

A) 4.8 x 10°Nm
B) 3.1 x 10° Nm2
C) 6.2 x 106 Nm>
D) 5.1 x 10°Nm™

12. A thin liquid film formed between a U-shaped
wire and a light slider supports a weight of
1.5 x 10N The length of the slider is 30 cm
and its weight negligible. The surface tension
of liquid film is

SN
FILM

A)0.0125 Nm'!
B) 0.1 Nm!

C) 0.025 Nm'!
D) 0.05 Nm'!

o6 U eaye sDOISGL @G b6
HLEH &G Bhelsy Quevedw Hgeu g
QR60TM 2 (HEUMUSHTEH G &HMETCEUTLD. H(LD6Y
HLEH 1.5 x 103N eremLenll STHRIGHR DS
BHWe| &HLEFHuler Herd 30 QFLS HmILD
3| & 60T 6T6oL LI & 8560011 6 5 & 5 85 5 &)
6T6e0TE QG&ITEOOTLMTEL Hgeu el 19edT Lyl
@ wellem & WImeTs!

SN
FILM

A)0.0125 Nm'!
B) 0.1 Nm!

C) 0.025 Nm!
D) 0.05 Nm'!

13. If the diameter of a capillary tube is doubled
then height of the liquid that will rise is

A) Twice B) half
C) same D) None of these
®m &haHE GLTWear allLHoms

@\ (BLOLBISTHSR60TTEL GHLMUIley GLoaILIHLD
BISF 60T 2 WIFLINTeTs

A) @B LOLMISGTGLD

B) UTHWMGSLD

C) Mgl

D) GM &l 6756 l6vem6v

14. Pressure inside two soap bubbles are 1.01
and 1.02 atmosphere respectively. The ratio

of their volume is
A)8:1 B)0.8:1

C)2:1 D)4:1
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@m Gormly GUILLEHEBEHEGET 2 616
WHSDL wWemmGw 101 wmm  1.02
QUEfIDETITL 6V (DS SHID 6TevfleL 2 eummleor
LIgHLoéotleor & & L0

A)8:1 B)0.8: 1

C)2:1 D)4:1

15. When a block of mass M is suspended by a
long wire of length L, the length of the wire
become (L + /). The elastic potential energy

stored in the extended wire
A) Mgl B) MgL
C) 1/2 Mgl D) 1/2 MgL

L Berepemer &L spedrnilél M Blemmu|eTer

&L 60 62 60T M) QsmmIGe L UUGILD
Gumal swbUwler Herd L + ) s
BL& SIS 6Tevf 16V SILNuflev
GFril5 s MeUE S LILIL (HeTerr BL&
151606V WIITMH M6V TEOTS!

A) Mgl B) MgL

C) 1/2 Mgl D) 1/2 MgL

CHEMISTRY Q.No. 16 to 30

16. In which of the following functional group
isomerism is not possible?

A) Alcohols B) Aldehydes
C) Alkyl halides D) Cyanide
LD &> 55 600T L 6THS 660 60T Q1 &F WLI6L

QETGHEG LMTHMIWLD HenL WS
A) 3L6VHAMITEV

B) @yeuigemam®
C) SJ6LEM&FH6L UM TEM 6V (H)
D) &wemeor(h

17. The compound having only primary hydrogen
atom is

A) Iso butane

B) 2, 3-dimethyl butene

C) Cyclohexane

D) Propyne

e 1fl ety 6v0T WL QML _[J8360T
WL HIGL Q& mevoTL. G&FJLOLD

9| 6501 & & 6T

A) G LIu,L GL 6T
B) -2,3 emL LSGem & 60 LIlWl, L L@ 6oT
Q) aUem6TW Qe &G & 60T
D) LG TLI6oLI6oT
18. The IUPAC name of Compound

CH, CH,-CH,

I I
CH3—? — CH,— CH,— CH— CH,

CH,-CH,

A) 2, 5-diethyl — 4-methyl hexane

B) 3, 3, 6 — tri methyl octane

C) 2, 5, 6 — tri methyl octane

D) 3, 5 — dimethyl -6-ethyl heptane

HCY  Q&THSSIULB6TeT  GFFLNG S 60T
IUPAC QuUIWIJ Wmgl?

CH CH -CH
| ) | 2 3
CH,—C — CH,— CH,— CH— CH,
|
CH,~CH,

A)-2,560) L FF 560 &6V -4- L5 856008560 Q a1 85 G & 60T
B) 3,3,6 - 1960 LG 60 &6V 21,8 CL60T

Q) 2,5,6 -19.60)J L5GH6M G560 4,85 GL_60T

D) 3,5-60)L_ L5 560086V -6- 6T&H60 Glam LIGL 60T

19. The IUPAC name of'the following compound
is

/
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A) 5, 6 — diethyl -8- methyl dec-6-ene

B) 5, 6 — diethyl -3-methyl dec — 4-ene
C) 6-butyl -5- ethyl -3- methyl oct -4-ene
D) 4, 5 — diethyl -8-methyl dec — 6-ene

G SHe00TL. GF NG H 60T IUPAC QLILIF

/

A) 5,6-60)L 6T&H)6V -8-10560 56V GL_&5-6-FF 60T
B) 5,6-60)L_ 6T&H\ 6V -3-108 60056V Gl L85 -4-FF 60T

Q) 6-LNWL MLV -5-6THFH6V -3- L0566V
Q& L_-4-F 60T

D) 4,5-60)L_ 6T&F6V -8-155 60156V GIL_&>-6-FF 60T

20. How many ¢ and m bonds are there in the
molecule of tetracyano ethylene?

A) 9c and 9= B) 56 and 91t

C)9c and 7w D) 56 and 8n

QLLITEWGeTIT 6753 6560T 6T60Tm C&F [T DS F) 6V
(HSHEMET 6 MM 7 LlemeoorLiL] e
D _GITET6OT?

A) 96 LDMHMILD 97 B) 56 LDMMILD 97

Q) 96 LDMMILD 77 D) 56 LDMMILD 8n

21. The correct decreasing order of priority for
the functional groups of organic compounds
in the [UPAC system of nomenclature is

A) —COOH, ~SO H, ~CONH,, -CHO
B) -SO,H, -COOH, -CONH,, -CHO
C) -CHO, ~COOH, -SO,H, ~CONH,

D) -CONH,, -CHO, ~SO,H, -COOH

IUPAC Quuwfl(Lb (wemmuilev
GO Lul @eiter 6l 6m6OTE Q & L6V
QaMG & sefler siflwmer @mmi@ auflens

A) -COOH, -SO,H, -CONH,, -CHO

B) -SO,H, -COOH, ~CONH,, -CHO

C) -CHO, ~COOH, -SO,H, ~CONH,

D) -CONH,, -CHO, -SO,H, -COOH

22. Which of the following does not show
geometrical isomerism?

A) 1-4-dichloro — 1-pentene
B) 1,2-dichloro-1-pentene
C) 1,3-dichloro-1-pentene
D) 1,1-dichloro-1-pentene

GEL&e0oTL GEFLOmIG6Tle0 allgal Wmmmluln
@6veLTs G&FJLOLD

A) 1,4- emL&CaTImGrIT -1- GLI6OT LR 60T

B) 1,2- e L &GemmGrim-1-GLI60TIC 60T

Q) 1,3- 0L &GC6mmGym-1-G) LI60T LC 60T

D) 1,1- emL &CeTm@IIT-1-6LI60T LR 60T
23. An optically active compound is

A) I-bromo butane

B) B- bromo butyric acid

C) 2-bromo-2-methyl propane

D) 1-bromo-2-methyl propane
eeflaxlpm& mMHMlWILD 2 6Tem GFJLINLD

A) 1- 4ComGm LNw, L GLedr

B) B- yCrCLmIWL flé 9dlevin

Q) 2- UBrmGBLom -2- I8&em & 60 L|GTmLIGLI6T

D) 1- 4BFmGLOIT -2- §&Hem&S 6V LG mLIGLI60T
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24. Isomers present in

CH,~CH, _H
C=C H
s ~c 7
CH, /N
CH, COOH
A) Geometrical isomerism and chain

isomerism
B) Optical isomerism only

C) Optical isomerism
1Isomerism

and Geometrical

D) Geometrical isomerism alone

Q&THSHELILIL(heTeT GFILDSH 6L
&meoor LILI(hleu gl
CH,~CH, H
Cc=C H
e \C/
CH, /N
CH, COOH

A allger LMOMIIWD  WwHmn  Frsed
QML LmmHMlulb

B) sperfl &rLoM& oMMl

Q) eperfl &M WTHMIWID WMMID GlLg.6l
OTHMIWILD

D) aulgeummmiwid G0

25. Which one of the following does not show
tautomirism?

A) HCN
B) acetone
C) Nitro methane

D) Ethanol

QWmMm@ &blemew LWMMHMIWLD
@&yl

@ VeV

A) HCN
B) &L GL ITedT
Q) edBL BT LS5 B 60T

D) 6T8 & 60TIT6V

26. Which of the following is a heterocyclic
compound/s

1. Anthracene i1. Naphthalene

iil. Pyridine iv. Thiophene

A) i, ii B) i, iii, iv
C) iit, 1v D) iii only
EPOHTH&SHLILL (6T GFrLomIsserflev

LI6uedleoT auemerT GFITIOLD 6T&I?

i. QLI 5T & 60T ii. IB5ITL1869 60T
iii. LNoA1q 601 iv. WL eor
A) i, ii B) i, iii, iv
Q) iii, iv D) iii DL (LD

27. The hybridisation of carbon atom 1, 2, 3, 4 in
the Compound *CH=*C-*CH='CH,

A) sp, sp% sp, sp’
B) sp?, sp?, sp, sp
C) sp?, sp, sp, sp*

D) sp’, sp, sp, sp

‘CH=’C-°CH='CH, eretTm GFFnsSH 6V
&myuUer 1,2,3  OMMID 460 2 66T
@) 60T&SHEVLILY 151 60)6V G LD &5 5 600T L

alflensuilel SieIP M.
A) sp, sp?, sp, sp*
B) sp? sp?, sp, sp
C) sp? sp, sp, sp?

D) sp3, sp, sp, sp

28. Which is incorrect match in accordance with
[UPAC system

i
i) CH,-CH,-C-CH,-CH-CH, i. -4-bromo-2,
}|3 CI:H 4-dimethyl
' 3 hexane
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_ CH,~CH-CH-CH,-CH,
i) I I 11. -2-methyl

CH, CgH; -3-phenyl
pentane
iii) Br—-CH,-CH=CH, 1iii. -1-bromo prop-2-ene
i
iv) CH,~C-CH,-CH,~CH,-COOH
1v. -5-oxo-hexanoic acid
A) 1,1 and i1

B) i1 and 1iv

C) i1 only D) ii and 1ii

IUPAC QUW QD wemmuilev QUTBHSTSHS!
6T&1?

g
i) CH,~CH,~C~CH,~CH~CH,
Br CH,
i.-4-GrymGLom -2, -2
ML LSS 6V
Qam& & 6ot
i) CHS—CIH—(fH—CHz—CH3
11
CH, CH ii. —2— L5560 & 60—
3-LNemeotev
G\ LI60T G L_60T
iii) Br—-CH,-CH=CH, iii. -1- 4@pmGLorm

LG ImLI—2—FF 60T

0]
. Il
iv) CH,~C-CH,-CH,-CH,~COOH
iv. -5-2L,&C&F M
QamseumGermuils 9jleun
A) i, i LDMHMILD i
B) iii LDMMILD iv
Q) iii LD
D) ii LDMMILD iii

29. Two possible stereo structure CH, — CH(OH)
— COOH, which are optical active are called

A) Diastereomer

B) Atrop isomer

C) Enantiomer

D) None of these

CH, CH(OH) COOHeT6tTm GE&FLOGH 6L 2 6iTar
@ reoor(h) sperfl SLoMMILD HeTemLD Q85 TevoTL
LI600T L 6T60T LIS

A) LwenveflGwImnrg

B) &+Lp6L aulg 6l oMM MWL

C) eTeoT6OTFIGUWITLOT

D) B Lnmmitn C

30. Number of secondary carbon and hydrogen
present in the compound

T

Br
A)2,3
B)2,2
0)3,3
D)2,0
FOHHTEVID PVEFMleL WemmGU

I6GHemeT  Fiflemeorul  SMTFLIGT  LDMMID
AL TR0 6T & 6T 2_6ITEIT6T?

T

Br
A)2,3
B)2,2
0)3,3

D)2, 0

| BIOLOGY (BOTANY) Q.No. 31 to 45

31. Identify the correctly matched pair
I. Toxins - Ricin
II. Lectins - Codeine
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III. Drugs - Vinblastin
IV. Alkaloids - Concanavalin A
A) I and II only

B) Il and IV only
C) I and III only
D) IT and IV only
FIIWITEOT () 60)600T8:60)6ITS &600T L 1) &
) BEF&HEHET — eF&Fleor
) QeLGETEHET — @& MedL 60T
) LD@BSIGeT - ellerLilemmeruLg eor
IV) Q60BEVITUIHEET - &TeoT 8 60TaU MEdl6oT A
A) I lomoid Il GO
B) Il nmmuLd IV oL_(hLD
O | omoid N (KD
D) Il bmmid IV (LD

32. Which of the following is
metabolites in plants

secondary

A) Peroxidase
B) Leucine
C) Vitamin A

D) Gums
L eTeu(heueTaUMMIET 615  SHTeUJ G660
QUMM @) F60oTLITID Blemey euemTTHens
LOMMHMLIQLITH 6T

A) QLUIT& e GL 6

B) &uu & 6ot

C) emeul_L LOledT A

D) L& 6ot
33. Oligosaccharides contain
A) 1 - 10 sugar units

B) 2 - 10 sugar units

C) 3 - 10 sugar unit

D) 4 - 10 sugar units
RICHTFMEHHMTH&H6T QUMM HLILIS

A)1-10 FTHSHT |60& 6T

B)2-10 FISHHNT 6V&S 6T

Q) 3-10 FI&HEHMT 6V&SH6T

D)4 - 10 &J&HEMT {6V 86T

34. Match the following:

a) Starch - (i) glucose units

b) Cellulose - (ii) amylose

c¢) Chitin - (i) CH O,

d) hexose - (iv) mucopolysaccharide

a b c d

A) () @)  (@[v) (i)

B) () @) (@v) ()

C) (i) (i) (1)  (@(1v)

D) (v) () (i) (i)
QUITHS S 5.
A)yVLTHE - (i) GEBHEHCHTEN 3|6V& 86T
B) QFeuanGeumery - (i) emLDG6VIT6N
Q) em&Llqeor - (iii) C,H,,0,

D) @aem&G&mery
- (iv) Yw,&CHTUTENFTHSHT(H

a b c d
A) () (@) (iv) (i)
B) (i) (i (v) ()
O I () B (V) (iv)
D) (v) () (i) (i)
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35. Identify the incorrect pair

I. Lactose - C,,H,,0,,
II. Raffinose - CH, 0,
II1. Stachyose - C,H,0,,
IV. Verbascose - C,H,0,

A) I and II only

B) Il and IV only

C)Iland IV only

D) III and IV only

SEUMITEOT (3)60)600T56M 618 856007 L)1 &5

l. & GLImev - C, H,,0,,
Il. prll@eormerv - C18H,,0,
. evL_memamGwimerv - C,,H,,0,.

- C,H.0O

IV. @euyumeru@LImery »H5:04

A) I lomoid |1l GO
B) Il LnmmILD IV oL (HLD
Q) I mMId IV L GILD
D) Il bMmMILD IV 0L ()LD

36. Statement I : Lipids are hydrophobic in
nature. So they can soluble in non-polar
solvents

Statement II : Ether is example of non-polar
solvents

A) Statement [ is correct , Statement II is
incorrect

B) Statement I and II are correct
C) Statement I is incorrect, Statement Il correct

D) Statement I and II are incorrect

Fadml | R ser BT Qeumis@Ln
SHEOTMOW ML UISTL  @6mel  SIHeULDMM
ST LILIMETE 61160 &6emTuLD.

gam |l FSST ®O® SGaLDHD
&N TLILIMTETTGLD

10

A) Fammi | &Fifl Fammi |l Seum

B) SaMMI | LDMHMILD S MM Il &Fif]

Q) Eahml | UM GO | &1f]

D) &Ml | LDMHMILD Fon M) || &6uml

37. Linus Pauling and Robert Corey both were
awarded Nobel prize because

A) They sequenced Insulin protein

B) They proposed the a-helix and B- sheet
secondary structures of proteins.

C) They explained denaturation of proteins

D) Thy isolate a non-protein substance
‘Nuclein’

EMEVE0TEN &LIMEOIM Wmmild prufl G&mifl

AHBW  QUeIGEGL  Chmuey  Ufle

QULDHISGLILIL L &M&ITE0T &ITIJ600TLD

A) @) 601860l 60T LUTSHSHMS
alflensUB SHWSDHHTSH

B) LIT& 5 S e0r @ evor LD Bblemeu

S|MLOLILITET  FH(HGEFSHLPL  LDMHMILD
58 emLLItL (LN6T QLOMLEH S S MTev

Q) LT85 5 6o @ uievL gflemnw
allev&H WG 6L
D) Blw,&erflesr 6T60T M L|T&L06V6VITS

Qum@meneT LIH0&H & SHS M6V
38. The term protein was coined by
A) Jonathan Singer
B) Benda
C) Linus Pauling
D) Gerardus Johannes Mulder
L] G ITL_L9.60T 6T60T M Q) &F IT6LEDI6V (LD 60T60) 61 & & 6 [T
A) GIT6OT TS 60T FIHBIGS T
B) G\LI6vOTLIT
C) 60)6V60TEN & LIMESI A

D) @KrmiLen CLQmamImeren) (LD6VLIJ
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39.In 1953, the first protein insulin was
sequenced by

A) Edward van Beneden
B) Anton Schneider
C) Ian Evangelista Purkyne

D) Fred sanger

1953 9y, LD 24,6007 () &) 60T 5+ 69 60T 6T60TM) L| [T &H & 60 &
(WSTNG 06V auflenFLILI(H &S WedF

A) 6T aUT L. 6UTedT G\LI6vf 1@ L6oT
B) <u,600r 60T afleof ULy
Q) C6tT @ eumedTeSledlervLIT L7 Geor
D) NIQpL FMmIsT
40. Which is the first discovered alkaloid?
A) Morphine
B) Quinine
C) Ephedrine
D) Nicotine

(NS 60T (LN 560160 &0t Ll L

V&MU 6T&I?
A) Loy eor
B) & WilemeoTedT
Q) eTL9L_ifledr
D) B8 TLq.60T

41. Secondary metabolites such as nicotine,
strychnine and caffeine are produced by
plants for their

A) Nutritive value
B) Growth response
C) Defence action

D) Effects on reproduction
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BIGHITIQE0, UL 6D TEEM60T6OT, G 60)L160T
GUITETM @ T6OOTLITIDBI6MEY  UeTIEF S
MMHMLUICLITIHL_ 86T &6l T I g 6rfl60
2 MUSH QFWIWLILMR6USMSHTET &ITJ60orLD
A) 261" | FFHHMHEHMSH
B) eUeTIFH S5 M5
Q) umaIsTUNDHSTS
D) @eTLQUHESHSHMETSH
42. Chitin is the major component of cell wall of
A) Agaricus
B) Pythium
C)Both A and B
D) Ulva
@eUMMIGT QF V& U 60)85L_19.60TIT6V 3, 60TS
A) o1& mifleen
B) L& ulLld
Q) A LomHmid B
D) &j6veuIT
43. A fat molecule contain
A) one glycerol and three fatty acid molecules
B) One fatty acid and three glycerol molecules

C) Three glycerol and three fatty acid molecules
D) One glycerol and one fatty acid molecule
@@ OIILIG) eLn6vEFamMled [BLILIG)

A em Hefleggmey WMo epesTm

Q&MTWLIL] 3LAl6VTHIG 6T

B) @ Q&ML oflevBisGeT DMHMID
eLneoTml S erflarmev

Q) epeorm  Herflermey  WHMID  eLpedTa)
QE&MWRLIL] | LOl6VBIG 6T

D) @@ SeflFImey LnMMILD @@ Q& mLIL]
ILdlevld
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44. Sucrose is composed of @&W &L f55m8 SFnmeflliLg

A) Glucose + Glucose A) LT &lerel @ eminaser
B) Glucose + Fructose B) urtiflebeurf] semaser
C) Fructose + Galactose ©) AV- &¢0
D) Glucose + Galactose D) SA- &
&6 G )& 60TTE 2 E0TS) 47. Examine the diagram given below and find
out in which part of the heart (A,B,C,D),
A) GEBECHTEN + &EH&H G e oxygen rich blood enters.
B) &@Bh&HCsmen + LNTsGL e }_
Q) Ng&GLITev + C&H6evEGL TN s
D) GEB&EH M + BHEVEHGL M6 p |‘=_ & s
45. Identify the Hetero polysaccharide A "*’ "'B \
A) Ketose, fructose and aldose ‘ Jl\j .. D -. 5
B) Lactose, sucrose and Maltose :
C) Agar-agar, Peptidoglycan and keratan
sulphate A)A B)B
D) Starch, cellulose and chitin C)C D)D
QamL 19 G LMeSCEF&emTenl. &6vorL_N& EC QBTHSELILL QT mTULSMmS

SITUBS, @SWSH T 6hsl LGS uie

ABLGLTEY,  Up&eLmey OO | (ApcD) auseliger Bleombs @UssiDd
S60GL TN BMNRMS! 6TeTLIENS & &6v0TLMlLIeYLD
B) 6LIT&GLIT6NV, F&GImen LOMHMILD

LDIT6LGLITerV \\/ 1)

Q) AEGMFT-AU&TH, QUL CL TS 6m6Tss meoT, (-
LOMMILD Q&TTLLTE0T F6L&GLIL

, . B
D) 6VLMTFE,  QFeuGemey  WMHMILD (A A\
60 & L_19.60T ' T cl )
I\
‘ D
BIOLOGY (ZOOLOGY) Q.No. 46 to 60 AN S}
46. Rate of heart beat is determined by
A) Purkinje fibres
A) A B) B
B) Papillary muscles
OC D)D
C) AV- node
D) SA- node
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48. During diastole, the blood
A) Enters the heart
B) Leaves the heart
C) Leaves the ventricle
D) Enters into lungs
LweuGLmedledr GUMSI, @T&HSHLD
A) QBWSHDHGSET BIenp&H !
B) @&WsHems el (h QeueflGuLmSB M

C) QeusTLfl& & emer
QauelCLMTB M

LG

D) BIemTuSTen & &6 Hien B M

49. Match the column I with column II and
choose the correct answer from the option
given below.

Column | Column 11

a) Cardiac cycle — 1. 72 times/ minute

b) Plasma - 1. 120/80 mm Hg

c) Systolic / Diastolic —  1iii. 0.8 seconds

d) Haemoglobin — iv. 12-16 gms in every 100 ml
of blood

¢) Heartbeat — v. 55% of the blood.

A) a-(1); b-(ii); c-(iii); d ~(iv); e — (V)

B) a-(iii); b-(i); c-(v); d (ii); e — (iv)

C) a-(iii); b-(v); c~(i1); d (iv); e — (i)

D) a-(ii); b-(iv) ; c~(iii); d —(1); e — (V)
alfleng | 8 auflend Il 2_LeT QUTHSS), HELD
Q&ETOHSELILL(B6Ter  Fammlev  &Fiflwimeor
aflenLenwis CHIHOSH &N

aliflens | alflens I
a) @sW &HPMHF - )72 wenm/ BIAIL LD

b) emmeruLom — i) 120/80 LS LITGT&FLD

c) FlervBLmed & /

L WevGLmedlg. — i) 0.8 elleoTTLg 86T

d) @nCLOMEGGeTTLI6T — iv. eeUG6UT(H
100 l6vedl
QUS55SVID
16-12 @\JTLD

e) QBWS S| —-  Vv.55% @QUSSLD

A) a-(i); b-(ii); c-(iii); d =(iv); € = (v)

B) a-(iii); b-(i); c-(v); d —(ii); e — (iv)

Q) a-(iii); b-(v); c-(ii); d =(iv); e = (i)

D) a-(ii); b-(iv) ; c-(iii); d —(i); € = (V)

50. What happens when the pacemaker becomes
non functional?

A) Auricles  and
rhythmically

ventricles contract

B) Cardiac muscles do not undergo co-
ordinated rhythmic movements

C) Only auricles contract rhythmically

D) Only ventricles contract rhythmically

GUVGBESHT QFWELLITIDEN  GLITeTTeY
6T6OT6OT [HL_&(&LD?

A) 21 fl&G 686 MHmILD QO 6U6dTL Il &S 6iTa6iT
FUneg & (H bl & S 60T M 60T

B) @& H60F&6T 6(IH MG 60r600T[H S & [T ITeoT
QUSHSHMBIGHEHEHEG 2 L LIL TS

Q) o GF 6TSH 6T Fons

& (IH Ml (& G\ 60T (D 60T.

L GG
D) QeuatTL_Ifl&&HemeT  WLLMHICWL  Frmss
& (TH I (& ) 60T (D 60T.

51. From the following , identify the gland which
controls the blood pressure

A) Thyroid gland
B) Adrenal gland
C) Parathyroid gland

D) Thymus gland
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Herei@paarapdlelens, QUSS
AHWSHDHHMSHE sLOUUGSSID
&IUenw & gevorLmlule]ld

A) enSTTL@ &L

B) oL_feorev &ryLILY

Q) UMImenSFTUI® &L

D) eng o6 &Ll

52. Assertion (A) : Ventricular systole precedes
the atrial systole.

Reason (R ): The cardiac impulse passes
relatively fast across the AV node.

A) If both assertion and reason are true and
the reason is a correct explanation of the
assertion.

B) If both assertion and reason are true but
reason is not a correct explanation of the
assertion

C) If assertion is true but the reason is false.

D) If both assertion and reason are false.

Fadm (A QeuetLflGevy  FlenuGL mev
gL FlweL F1enBL TS G (N6TCL Bl&LLH M S

&Myeorld (R): QUGS STeooT(h&HeV AV & ool
(DWPeIGILD LT Lemedley GeUssLDITS

WA

A) Ea MMl IDMHMILD S&TIeoord @) Feoor(Hid &Fifl
OMMILD &TFeoorld Familedr &Frflwimer
A6Ts&L0MEGLD.

B) SmMmI LOMMILD STJevorld @) Fevor(hn &ifl,
QLEOTTEV &MTIeooTd Famniledr & ifluwlmeor
lem& &L {606V

Q) samm &Fifl; SHTIeOrd Heum

D) MM LWOMMILD &TFeorld @ Feoor(h LD
SHelmI.
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53. Bundle of His is a network of

A) Muscle fibres distributed throughout the
heart

B) Muscle fibres found only in the ventricle
wall

C) Nerve fibres distributed in ventricles.

D) Nerve fibres distributed in auricles.

amlenerdler &MemMEs6T eTeoT LIS

A) @&WLb (WP(pegILD &ITeoor LILI(HILD
S0 & U enLp & 6T
B) QeuedTL_ifl& & 6 Fraurflev GG

SIeoor IL(ILD SenaullemLpsser

Q) QeuetrLifl & 6iTa6rfl6v &Imevor L1LI(HILD
BILOLNem L& 6T

D) o1 fl&:&) e1as 6rfl6v &Imeoor LILI(H)LD
157 LD LI 60 LD &5 61T

54. During ventricular systole

A) Oxygenated blood is pumped into the
pulmonary artery and deoxygenated blood
1s pumped into the pulmonary vein.

B) Oxygenated blood is pumped into the aorta
and deoxygenated blood is pumped into
the pulmonary vein

C) Oxygenated blood is pumped into the
pulmonary vein and deoxygenated blood is
pumped into the pulmonary artery.

D) Oxygenated blood is pumped into the aorta
and oxygenated blood is pumped into the
pulmonary artery.

QeuetTL_Ifl&evT FlervCLmedletr GLIME

A) 94,86n018260T BleMMIH S @) T8 S LD Bl6m T uT6v
Loeofluilepier QFENGSILGSRMSI
DM mILD 24,860l et MM
@ussh  meoguige  Fenrs@er
QFNSHSILGHE DS
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B) 24,8 610183607 BlenmbES QIS
QuU@BSLeIUWI QFNSSLILIGSR DS
LHoh  HellgarHm @UsHSL
Blenguigev Fengulleer
QFNSSLLIGHE DS

C) selger  plowphs  @UHSWD
BlenTufrev Fenguilev
QFNSSILOE DS L0 mILh

RHigarOm @ressd menyuire
S &G QFESLILG R M

D) &u,86rdlgg60r Blenmbs
@Us 5D QUBbHS e lull g6
QFENSSILHE S LDMHDILD
24,8 601 83 607 Blenmbg @Ussh
Blenguigev SLoeofludlev
QFENSHSILHE DS

55. The extended Q and R waves in ECG is
referred to

A) Myocardial infarction
B) Hypertension
C) Stroke

D) Bradycardia

ECG @6v HBevorL Q LOMMID R 6MEVEH6EIT
ST MIRIQLTF:S

A) LDMIemLLIL]
B) 2 W QUHS A(WSHLD
() US&HEIMSLD

D) YIFMIQ & TFIg T

56. Blocking of arteries due to deposition of fats
and calcium is called

A) Arteriosclerosis
B) Atherosclerosis
C) Emphysema

D) Heart block
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Qa&MWLIL WMmMID STLFWILD  LIG6IST6
sloefl&erfley gmUmLD SjemLLiL] eTeueumm
MP&ESLILGSR DS

A) ey TieflGwmev& eflGrm& e
B) 2B BT Men HGev B TEH 6N
C) eTlb&emUF LD
D) @&W {emLLiL]
57. Identify the correct sequence of cardiac cycle

a) Blood through the pulmonary vein and vena
cava enters in left and right atrium respectively

b) AV node generates action potential for
ventricles

c¢) SA node brings about atrial systole

d) Ventricular systole pushes blood away from
the heart

A)a—b—oc—d
B)a—-c—>b—d
C)c—a—>b—d

D)c—>d—>b—a

QW QUWESEF Spm&Aluler  Fiflumer
auflenFenil SjemLWITETLD &ITeore LD

) Bl TUTTELE 6077 LD M MILD G LI(H6H & 60Y T & 61T
alflurs @rssnd  WonCw @Lgl
LOHoID elevdl gLflWsHeL BIeW&ma

Q) AV Hewml  GleuedTL 165 618 615 & & TeoT
QEFWE HMen6oT 2 (HeUTEHGH MS!

@)SA s gliflwey  FevCLmemeus
2 (HUTEHGSGR M.

) QeuedtL_Ifl&evF FleruCLITev
QBWST N BHS! QU555
QeueflGWMMISR M.

A)a—>b—oc—d

B)a—>c—>b—d
C)c—a—b—d

D)c—»>d—>b—a
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58. Find the proper option for P,Q,R,S labelled
part in the diagram

A) P — Obtained blood from Left ventricle
B) Q — give blood to Left ventricle
C) R — Obtained blood from Left Auricle

D) S — give blood to Right Auricle

alemIULSH PQRS eteor Quuirfl il
Frflwmeor

LI(& 5 &85 TeoT aflemLemWis

&6oor LMl uleyLD

AP - @L& Qeerliflea&Hefledmnas
QIH55MS QUGB ME!

B)Q - QLS QeueT fl&EHEHsHE @IHHLID
Q&ETHSRMSI

OR- QL& f&Hefler @Qmhg QIsHsD
QuUMLILGSR DS

D)S - eawg RBI&EHEHHEE @QUsHHD
Q&ETHSHIRMSI

59.0n the ECG recording the maximum
ventricular pressure would be

A) At QRS complex
B) At T wave
C) Between QRS complex and T wave

D) Between P and QRS complex
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ECG uBaley G sLULE QeusTLflGeurd
(WSS Smevor LILI(h Ul

A) QRS &L LemloLiL6v
B) T @emevuilev

Q) QRS Fal LemlIMm@&W T S6m60& G
@emLuilev

D)P wmmibh QRS Fal LM
@emLuilev
60. Choose the schematic diagram which

properly represents pulmonary circulation in
humans.

A) Left auricle (oxygenated blood) — lungs
(deoxygenated blood) — right ventricle.

B) Left auricle (deoxygenated blood) — lungs
(oxygenated blood) — right ventricle.

C) Right ventricle (deoxygenated blood) —
lungs (oxygenated blood) — left auricle

D) Right ventricle (oxygenated blood) —
lungs (deoxygenated blood) — left auricle

eflBFs&erfley BeanguiTey SHHCMTL LS5
Fglwme GM&HEGL DL UmTULSMSS
CaIe| QFUIWe|LD.

A) QL& 2 f1&EH6T (24,8 6n012360T C\&mevoTL
QUssL) — menguiyey (o6& germm
@USSID) — el QeueTL &S 6

B) @)L&1 24 f15:&)6iT (24 &F Qe @ IS5 D)
— mlemguigey (&HerdlegeT Q& mevorL
@UHSL0) — aueugl GeueiTl f1&& 6T

Q) auevgl GQeueTLfl&EH 6T (9L8H6rmm
@uHsn — BleguiTed (<wsendlger
Q&METTL. @IS 5LD) — @ LS &R 6T

D) auevgl  QeueTLifle&Hem (L85 eg6r
Q&MeoTL  @U&Hsn) —  Heovgulyey
(pGallgarHm @Ussn) — QLI

&G 6T
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